Nob =

A =(y=sin(0))
4=(y=-3sin(20))

Nob6 =

y=-sin(x)—1

2=(y=2cos(0))

1
J= y:—gcos(4 0)

| o
.7:(y:—gsm(3 ne)j .8:(y:—6 COS(T]—SJ

X |
y=3 sin(5j+2 y=—5cos(2 nx)+4 y=-3 cos(zj

o
y =7 cos

TX

3

J

X
csc(A4) = ;j

J=(y=cos(50))
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TrigonometryExercise for No.9124

Nol = (sin(A) = %), No2 = (sec(A) = %), No3 = (tan(A) = %j, No4 = (
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TrigonometryExercise for No.9252

. 5 5 7 X
Nol = (sm(A) = gj, No2 = (cot(A) = Zj’ No3 = (cos(A) = ;J, No4 = (sec(A) = g}

1 =(y=sin(0)) 2=(y=-2cos(0)) 3=(y=cos(29))
Nos = 4=(y=35sin(40)) .5=(y:—écos(4 9)) .6=(y=2cos(gj—4j
1 (=m0 MA
7=(y=-2cos(3m0)) .8:(y:—gsm(7]—3] E

3 s (Ttx] 4 5 . (nxj 1 (xj 3
= - |+ = — = — I
) y=3sin = y=7 sin| = y=—cos| 3

oo L) MA
y =—cos(x) y= 5 sin -
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TrigonometryExercise for No.9312

s« g2~ ser - v~ [anar = v o -3
Nol =|sin(4d)==1|, No2=|csc(A)=—"| No3=|tan(4) = No4 cot(A)zg

A =(y=sin(0)) 2=(y=4cos(0)) J3=(y=sin(30))
Nos = 4=(y=—4cos(30)) 5=(y 3s1n(2D .6:(y=§sin(69)+l)
. MA
J=(y=-2sin(3m0O)) . ( —sm( ]—4] E
1 (“]u (x)+ 1 3 (xj 4
y=7cos| y=—cos(x y=-3sin _ |-
2 3 2
veesl s 4] o)
yzzcos 3 y=2sin 5 TH
y =
el B T T T~
x| A
/ 1 / (
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Pi/2 Ri 3PRi/2 Pi 5Pi2 3Pi TPRif2 4
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TrigonometryExercise for No.9397

_ 2 9 7 2
Nol = (sm(A) = gj, No2 = (sec(A) = gj, No3 = (tan(A) = ;J, No4 = (cot(A) = ;]

[ . I=(y=sin(0)) 2=(y=-2cos(0)) 3=(y=cos(50)) |
No = 4=(y=4cos(20)) .5=(y=—55in(%D .6:(y:—§sin(69)+5j
fwarn) apeanlss) o)
_.7— y——Scos(Zn )| .8=|y=-6sin 1 -2 TH
y=—§sin(2nx)—2 y=cos(x)+3 y=-3cos(2x)
Nob6 = 2
> (1) P (ﬂ] MA
y=2cos 2 )~ y=-3sin 3 TH
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TrigonometryExercise for No.9449

Nol = (tan(A) —2] No2 = (cot(A) 7j No3 = (sm(A)— j No4 = (csc(A):§]
1 =(y=sin(0)) 2=(y=-6c0s(0)) J=(y=sin(30))
4=(y=4cos(50)) J= ( —lcos(3 G)J .6=(y:—5 cos(gj+2)

relpeaalZ) el qeeso )
] y =—4sin =—_cos(2m0O)— TH

5 X
y=55in(2x) y=3cos(5j+4 y=-sin(x) -1
No6 = (nx] MA

Nob =

5
=—3sin(2 +3 =—" — —
y sin(2 7 x) y 5 COs 3

4 & n ~ o %Ms o - ) w ~ 3] e \4
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TrigonometryExercise for No.9562

e e eI L G S Gl
Nol =| sin( )—9 , No2 =| sec( )—2 , No3 =| cos( )—6 , No4 =| csc( )—3
[ I=(y=cos(0)) 2=(y=-6sin(0)) 3=(y=cos(20)) |
Nos — 4=(y=5sin(60)) J= y:—isin(Se)j .6=(y=6sin(%}+5j
) spomeen)
_.7— y=-2cos 1 8= ——6sm(2n6)—5 TH
3.(7'ch2 ()2 1‘()6)4
y=-"sinl—/—|-2 y=cos(x)—2 y=-"sin T |-
2 2 2 2
veesl 3 (2] TR
yzzcos 5 y=-2sin 5 TH
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TrigonometryExercise for No.9721

Nol = (tan(A) = gj, No2 = (csc(A) = g], No3 = (COS(A) = %j, No4 = (sec(A) = %j

A =(y=sin(0)) 2=(y=-2cos(0)) 3=(y=cos(60))
Nos = 4=(y=-2co0s(60)) .5=(y=—6sin(%D .6:(y:§cos(66)+4j
7=(y=-2 61O 8—(—1'(ﬂj 2) MA
- =(y=-2cos(6m0)) .8= y——251n 6 )~ TH

3
y=-2sin(2x)+4 y=-sin(x)+1 y=Ecos(2x)

Tcxj 1 (nxj MA
— y=7cos| —|-3 —
3 2 3 TH

1
y=7c08
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TrigonometryExercise for No.9789

Nol = (sm(A)—3j No2 = (cot(A) —4] No3 = (tan(A)— j No4 = (csc(A):g]

A =(y=sin(0)) 2=(y=—-4cos(0)) J3=(y=sin(60))
Nos = 4=(y=4sin(30)) JS= (y——6cos( J —( :—isin(46)+2j
peeorn] a-fsoed )
_.7: y:—4cos(6n9) 8=|y=—-6cos 3 )" TH |
1 T X
y=——cos(x)—3 y=-2sin(2x)+4 y=—Esin(T]
No6 = 1 TX MA
yzgcos(Zx) y=3cos T -2 E
y =
S T4 AN | Ay
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TrigonometryExercise for No.9795

4 5 X 2
Nol = (tan(A) = gj, No2 = (csc(A) = Zj’ No3 = (cos(A) = ?j, No4 = (cot(A) = ;]

[ I=(y=cos(0)) 2=(y=-2sin(0)) 3=(y=sin(40)) |
0 1
No$ = A4=(y=-6¢c0s(50)) .5=(y=4cos(3D .6=(y=5cos(69)+lj
7=(y=-3 67O 8—(—1 (n_@] 2] MA
- =(y=-3cos(6m0)) .8= ——4cos 3 )" TH
3 (ﬁ] ) _E-(ﬂj PRI TN
g y—zcos 3 + y—2sm 3 + y—231n( TX)
o = 2 =-3 2 MA
y=-—cos(x) — y=-3cos(2x) —
N 7N o
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TrigonometryExercise for No.9839

X

Nol = (cos(A) = %), No2 = (csc(A) = g], No3 = (sin(A) =7 j, No4 = (cot(A) = g}

A=(y=cos(0)) 2=(y=-45sin(0)) 3=(y=cos(60))
Nos — A4=(y=6sin(50)) .5=(y:—4sin(gjj .6:(y=§sin(59)+5j
. (6 MA
.7:(y:—531n(4n6)j .8:()/:—3 sm(?j+4j E
3 3 (Mj
g y=—251n(27:x)+2 y=2cos(2x) y=-2cos 3
N H . MA
yzzcos 3 -3 y=sin(x)+1 TH
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TrigonometryExercise for No.9843

e G A C O R C
Nol =|tan(A4) == |, No2=|cot(4)="| No3 =|sin(4) = No4 sec(A):g

d=(y=cos(0)) 2=(y=-5sin(0)) 3=(y=cos(20))
Nos = 4=(y=—4sin(60)) .5=(y=—6cos(gn .6=(y=icos(6 9)—4]
1 no MA
.7:(y=—§cos(2n6)j 8:();——4005( 3 j—Bj E
)2 veeotnres el
cos y=cos(x y=-_sin T
3 2 3
N06= (i , (TCX] ﬂ
y=-3cos 3 -3 y=-2sin 5 TH
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TrigonometryExercise for No.9854

3 7 ) 2 X
Nol = (COS(A) = ;j, No2 = (csc(A) = 5), No3 = (sm(A) = ;], No4 = (sec(A) = ;]

A=(y=cos(0)) 2=(y=6sin(0)) 3=(y=cos(60))
[0 (L _
Nos — 4=(y=-5c0s(40)) .5:(y:—3sm(5)j .6—(y—4sm(56) lj
psnl) oo tuenn)
7= y=-5sin 3 8= y——Ssm( no)+ TH |
s y=sin(x) — y—2sm ) y——2cos 3
0__§.(Mj4_§ , MA
y——2 sin 3 + y——2 cos(2 mx) TH
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TrigonometryExercise for No.9862

Nol = (sin(A) = %], No2 = (sec(A) = %), No3 = (tan(A) = %J, No4 = (cot(4)=x)

I=(y=cos()) 2=(y=5sin(0)) 3=(y=sin(60))
Nos = 4=(y=5c0s(20)) .5=(y=—%sin(26)j '6:(y:_3sm(g)+lj
1 (=6 MA
7=(y=-3cos(2m0)) .8:(y:—zsm(7j—5j E
y=-sin(x) — y=_sin |- y=_cos|
2 \3 2 3
Nob6 = 3 (nx »
y=-2cos(2x) y=—sin-|-3

~
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TrigonometryExercise for No.10278

Nol = (tan(A) = g], No2 = (sec(A) = gj, No3 = (cos(A) = %], No4 = (cot(4)=x)

i d=(y=cos(0)) 2=(y=5sin(0)) 3=(y=cos(60))
NoS = 4=(y=6co0s(50)) .5:(y=%cos(26) 6= y:6sin(3j—lj
1 (=0 MA
_.7:(y:—4cos(6n6)) .8:( :—3cos( 5 ]+1] TH
ol )z el 3)
s y=cos(x)—3 y=—2sm 5 +2 y=—3sm2
5 5 MA
yzgcos(Zx)+4 y:—gcos(2nx) E
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TrigonometryExercise for No.10361

5 9 ¥ .
Nol = (tan(A) = ;j’ No2 = (sec(A) = g], No3 = (COS(A) = gj, No4 = (csc(A) = 7j
| I=(y=cox(6)) 2=(y=-2sin(6)) 3-(y=sin(60)) ]
Nos = 4=(y=-2sin(50)) .5=(y=§cos(56)) ,6:(y:_5sin(%j+lj
1 o MA
.7:(y:—gcos(5n9)] .8:(y:—4cos(T]—2] E
3 (xj ; .(Tch ; (xj )
y=—_C0s "~ y=3sin —— y=-3cos| = |-
Nob6 = | | »
y=-sin(x)—-2 y=2sin(2nx)—-3 E
y =
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TrigonometryExercise for No.10688

7 6 X 6
Nol = (sin(A) = gj, No2 = (cot(A) = ;], No3 = (tan(A) = 7), No4 = (sec(A) = —]
X
i A =(y=sin(0)) 2=(y=-3cos(0)) J3=(y=cos(30))
1 0
Nos = 4=(y=6c0s(40)) .5=(y=—gsin(39)J .6:(y:—4sin(gj+lj
(mO 1 MA
J=|y=-6sin| —/— S=|y=——cos(3m0O)-1 —
L 4 5 TH J
5 (1j s e (Mj P (ﬂj
s y—2cos ,)73 y=- sin 5 ) y—2cos 5
T3 (_] - MA
y——2 sin 5 y=sin(x) — -
7
6
S
Yy
- T 1 ,/’/’ﬂ—“—hﬁx\\\
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TrigonometryExercise for No.10868

Nol = (tan(A) = 3], No2 = (csc(A) = %j, No3 = (sin(A) = i}, No4 = (cot(A) = %]

A =(y=sin(0)) 2=(y=-6c0s(0)) J=(y=sin(60))
NoS = 4=(y=-3cos(60)) .5:(y=2cos(%D .6=[y=%cos(49)—4)

1 no MA

.7:(y=—5cos(2n6)j .8:(y:—6cos(7j—3j E

3 3 (x

y=-2cos(2mx)+2 y=Ecos(2x)—2 y=—551n(§]
No6 = 1 (nx MA
y=cos(x)+3 yZESIHT E

~
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TrigonometryExercise for No.10900

) 8 7 2 X
Nol = (sm(A) = Ej’ No2 = (cot(A) = Zj’ No3 = (cos(A) = ;J, No4 = (CSC(A) = Zj

1= (y=sin(0)) 2=(y=-3cos(6)) 3=(y=sin(50))
Nos = 4=(y=-3cos(50)) .5=(y=3cos(%jj -6=(y=%sin(66)—5j
1 70 MA
.7:(y=—gcos(6n6)j .8:(y:—6cos(Tj—3j E
- cos(2x) 3'(”j L in(2x) - 4
y=-,cos8(sx y=3sinl — | y=—Tsin(2x)-
2 3 2
Nob6 = 5 (Mj "
V=508 73 +3 y=cos(x)-3 -
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TrigonometryExercise for No.11693

R e G L e RO )
Nol =|cos(A)=—],No2=|cot(A)=7|, No3=|tan(A)=—"|, No4=| sec(A)=—"
9 3 4 X
i A =(y=sin(0)) 2=(y=2cos(0)) J=(y=sin(20))
Nos = 4=(y=3sin(50)) .5=(y=—%cos(5 G)J .6=(y:—3 cos(%j—lj
franl) o]
_.7— y=-5cos 5 8= y——551n(3n6)+4 TH
1 (mx . )
y=—5s1n(7]—4 y=2sin(2x)-2 y=3sin(2x)
Not6 = T X MA
y=cos(x)—3 y=-3cos T E
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TrigonometryExercise for No.12097

Nol = (tan(A) = %], No2 = (cot(A) = gj, No3 = (sin(A) = %), No4 = (sec(A) = i]

A =(y=sin(0)) 2=(y=—-6c0s(0)) 3=(y=sin(40))
Nos = 4=(y=—4sin(50)) 5= y=—§cos(46)) .6=(y:55in(%j+lj
. 1 (x6 M4
_.7:(y:—3 sin(4m0)) .8:( :_SCOS( 5 ]+5] TH |
{af2) sl e
s y_231n 3 y=3cos 3 +4 y=-—cos(x)
3 X 1 X MA
y:—sin(—]+2 y=—" sin(—j —
2 2 2 3 TH
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TrigonometryExercise for No.12172

4 9 . 1 X
Nol = (tan(A) = gj, No?2 = (csc(A) = g], No3 = (sm(A) = ;j, No4 = (sec(A) = —j

3
1= (y=cos(0)) 2=(y=4sin(0)) 3=(y=sin(40))
Nos = .4:(y:_4COS(59)) -5:(y:iCOS(56)J ,6:(y:4cos(%J+3j
frgmomn] ok
_.7— y——2sm(5n )| .8=|y=-5sin 5 -4 p— _
> Sin(2.x) 3'(xj4 > (“j3
y=>_sm(zx y=_Ssm| " |— y=-—_cos| |-
2 2 3 2 o)
Nob6 = i i 1 (H] I
y=—cos(x)+1 y=-cos| -
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TrigonometryExercise for No.12173

[smear=3 ) wo2=[sct =3 s = < o= =2
Nol =|sin(4)=—| No2=|sec(4)==| No3=|cos(A)=—"1 Nod=|cot(Ad)=—
9 3 3 X
- ]:(y:51n(6)) _2:(y:_5005(9)) -3:(_)7:005(46))
No5 = 4=(y=-3cos(20)) -5:( =§COS(29)j .6=(y=—6cos(gj—lj
1 ) MA
.7:(};:—5008(6759)) '8:()):_5008(7}_5} -
; (xju > '(”j 2 y==sin(2x)
y=7c08 - y=—_sin| —|—-2 y=7smn(2x
2 \3 2 3 2
R (Mj _ , MA
y=->c¢08 ) y=cos(x)+ pre
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TrigonometryExercise for No.12180

Nol = (COS(A) = ?j, No2 = (cot(A) = 2], No3 = (tan(A) = 3], No4 = (csc(A) = i]

d=(y=cos(0)) 2=(y=-65sin(0)) J=(y=cos(50))
Nos = 4=(y=3sin(50)) .5:(y:§cos(46)) .6=(y:—2cos(%j—4j
[ (m6 MA
.7=(y:—5sm(5n9)] .8:(y:—6sm(T]+2j T
3 X
y=3sin(2x)-3 yz—Ecos(;j y=—cos(x)—3
Nob6 = ' (Mj 2 | ﬂ
y=-2sin 3 +4 yzzsln(2nx) v
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TrigonometryExercise for No.12256

7 5 ) 6 X
Nol = (cos(A) = gj, No2 = (sec(A) = Z]’ No3 = (sm(A) = ;j, No4 = (cot(A) = g}

A=(y=cos(0)) 2=(y=6sin(0)) 3=(y=cos(20))
Nos = 4=(y=6sin(50)) .5:(y=—§sin(5 9)) .6=(y:—2cos(%j—4j
o 1 . MA
_.7=(y:—4cos(7j] .8:(y:—gsm(5n6)—5j E |
3 . 5 5
y=7sin(2ntx) y=—_cos(2x)+2 y=_"cos(2mx)—2
Nob — 2 2 2
1 . MA
y:5s1n(2x) y=-cos(x)—3 E
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TrigonometryExercise for No.12278

7 4 ) X 7
Nol = (cos(A) = gj, No2 = (cot(A) = gj, No3 = (sm(A) = g}, No4 = (csc(A) = ;J

A =(y=sin(0)) 2=(y=-6c0s(0)) 3=(y=cos(40))
. 9 N _
Nos — 4=(y=06sin(40)) .5—(}/——600{2]) .6—(y—6sm(36) 3)
pranl) o)
7= y=-4sin 5 8= y——4sm( no)- TH |
—3'(%3 _ 2 o082 =2 (ﬂJz
g y=-3sin 3 + y——2cos( mx) y=2cos 5 )
S - (_j MA
y=sin(x) + y——2 cos 3 TH
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TrigonometryExercise for No.12482

. 3 9 3 X
Nol = (sm(A) = gj, No2 = (sec(A) = gj, No3 = (cos(A) = ;], No4 = (csc(A) = Z]

A =(y=sin(0)) 2=(y=3cos(0)) 3=(y=cos(40))
1 0
Nos = A4=(y=-5sin(30)) .5=(y=—gsin(26)j .6=(y=4sin(gj—5)
7_(_1(11_6}] §=(y=—4sin(5n0O)+5 A
7= y——Ssm 5 S=(y=—4sin(51t0)+5) TH |
3 (x ]
y=3cos(2mx)—4 y=—5s1n(;j+4 y=-sin(x) -1
R =) SWE
y =3 sin| 3 y——2cos 5 e
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TrigonometryExercise for No.12586

Nol = (cos(A) = %), No2 = (cot(A) = gj, No3 = (sin(A) = %J, No4 = (sec(A) = g}

A =(y=cos(0)) 2=(y=-5sin(0)) J=(y=sin(50))
Nos = 4=(y=4cos(60)) .5=(y=—4sin(%D .6=(y:—§cos(46)+2j
1 . T MA
.7=(y:—gsm(3n9)j .8:()/:—3 cos(?]—Sj E
3 (xj 5 (TCXJ 3sin(2 mx) — 2
y=--cos| 7| y=-2cos| | y=3sin(2mx)-
2 3 2
Not = , 5 MA
y =sin(x) yzgcos(Zx)+4 E
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TrigonometryExercise for No.12677

Nol = (cos(A) = gj, No2 = (csc(A) = g], No3 = (sin(A) = %j, No4 = (cot(A) = %J

d=(y=cos(0)) 2=(y=-5sin(0)) J3=(y=cos(50))
No$ = 4=(y=3cos(50)) .5=(y=—2sin(gjj .6=(y:—%sin(59)+4)
1 no MA
_.7:(y:—§cos(TD S=(y=—-4cos(2m0O)—-2) E |
sl ) vegenl3)es vesal T
s y=3sin 5 y= 2cos 2 +4 y=-3sin 5
by ) MA
y=-3 cos(;] y=sin(x) -3 E
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TrigonometryExercise for No.13490

7 2 . 6 4
Nol = (tan(A) = 5), No2 = (cot(A) = gj, No3 = (sm(A) = ;j, No4 = (sec(A) = ;]

A =(y=sin(0)) 2=(y=-5co0s(0)) J=(y=sin(40))
0 1
Nos = 4=(y=5c0s(390)) .5=(y=—3sin(;D .6=(y:—gsin(49)—lj
R e S
7= y= 4sm( n0)| .8§=|y=-5sin 4 + TH |
5 T X )
y =cos(x) y=—ECOS(Tj+2 y=2sin(2x)+3
A I T X (Mj M4
y——2sm( X) y=-3sIn 5 TH
i h ™

ey
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TrigonometryExercise for No.13500

Nol = (tan(A) = Sj No?2 = (sec(A) = g], No3 = (COS(A) = ! j No4 = (csc(A) = ij

A=(y=cos(0))
4=(y=-4sin(20))

oorenf2)

Nob =

5
y=—cos(x) y=2sin(2mx)+2 yzgsin(—

Nob6 = 5

= —_ COS
Y=

2=(y=—-6sin(0))

e

:——sm(6 T 6)+4j

X
(;] y=-3cos(2x)—-3

J3=(y=cos(30))

MA

TH

T X
3

MA

i

. . 1
:(y——3 COS(2D .6=[y:—gcos(3 6)+1j
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TrigonometryExercise for No.13637

= = st -G s == v o -3
Nol =|tan(A4) == |, No2=|csc(A)="1, No3 =|sin(4) = No4 cot(A):7

A=(y=cos(0)) 2=(y=3sin(0)) J3=(y=sin(50))
Nos — 4=(y=-3sin(20)) = [y 3005(2D .6:(y:—§cos(49)—l)
SR SR T EC) R R
- =(y=-6¢cos(3mH)) . sin - TH |
y=—cos(x)—1 y=_ sm(2nx)+4 y= 2sm( ]+3
Nob6 = 2 2
5 (1} | (Mj MA
y:—zcos 3 y =2 sin 5 TH
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TrigonometryExercise for No.645101

Nol = (sm(A)—3j No2 = (sec(A) —4j No3 = (tan(A) = 1) Nod4 = (csc(A):%j

A=(y=cos(0)) 2=(y=6sin(0)) J3=(y=cos(20))
Nos = 4=(y=-2sin(50)) S= (y 6s1n(§D .6=(y=ésin(39)+5j
rmamnoy syt )
I (y=-3sin(2mH)) . cos + TH |
y= —2 cos( 3 j y=—cos(x)+3 y=2sin(2x)
No6 = (mj 3 m MA
y=3cos|——|+4 y=Tsin " |-2 —
3 2 2 TH

bt

[»)]

(8]

I

w

5 /592 5 \sz Di/
oINS

o=l
!
/
2

1
I

1
()]

1
[9)]

1
~l

X [Page = 0034] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKXKKXXXXKKKKKK



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXKKXKXXKME/1-6400302-00035XX
TrigonometryExercise for No.645102

Nol = (sin(A) = gj, No2 = (sec(A) = %), No3 = (tan(A) = %j, No4 = (csc(A) = gj

A =(y=sin(0)) 2=(y=3cos(0)) 3=(y=cos(60))
0 1
Nos = 4=(y=-4sin(30)) .5=(y=—3cos(gjj .6:(y:gcos(56)—3j
7—(—1 (n_@jj §=(y=—4 2mt0)-2 MA
7= y——3cos p S=(y=—-4cos(2mH)—-2) TH |
3 (ﬂj 5 (1) .
e y=-3cos ) y—2COS 3 )" y =cos(x)
0__5.(M)4 _2.(1) M4
y—2s1n 5 ) y=-2sin 2 e
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TrigonometryExercise for No.645103

Nol = (COS(A) = 5), No2 = (cot(A) = Z]’ No3 = (tan(A) = ;], No4 = (CSC(A) = ;]

OO 2= (y=-3sin(8)) 3=(y=cos(20)) |

Nos — A4=(y=5co0s(60)) .5=(y:§sin(3e)j '6:(y:55in(%j+2j
1 udl MA
.7=(y=—zcos(7j] 8E=(y=-2cos(6m0)+2) E

ols)e mseds) ol Y
y= 2cos 3 y=3cos 3 y—2sm 5

Nob6 = MA

= —si -3 =2 2 +3 —
y =—sin(x) y cos(2 mx) TH

~
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TrigonometryExercise for No.645104

5 8 4 X
Nol = (COS(A) = ;j, No2 = (csc(A) = gj, No3 = (tan(A) = ;J, No4 = (cot(A) = E]

d=(y=cos(0)) 2=(y=4sin(0)) 3=(y=cos(30))

NoS = 4=(y=4cos(30)) .5=[y=icos(69)j .6:(y:—3sin(%j—2j
. 1 (n0 MA
J=(y=-5sin(4m0)) .8:(y=—gsm(7j+4j E

TX X
y=-3sin(2x) y=2cos(7j+4 y=-3 sin(;j—4
oo~ (Ej MA

, 1
= SIn =—_CO0S
y (x) y 3 TH
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TrigonometryExercise for No.645105

5 8 X X
Nol = (tan(A) = gj, No2 = (CSC(A) = gj, No3 = (cos(A) = Ej’ No4 = (cot(A) = ;]

A =(y=sin(0)) 2=(y=—-4cos(0)) J3=(y=sin(20))
0 1
NoS — 4=(y=-3sin(50)) .5=(y=—2sin(;D .6=(y:—gcos(39)+4)
7—(—1 (ﬂD §=(y=-2sin(4w0)+3 MA
7= y——3cos p S=(y=-2sin(4n0)+3) TH |
5  (mx .
y=—sm(—j y=-3cos(2x) y=sin(x)+1
Nob6 = 2 3
3 X X MA
y=--cos| — |-4 y=-3cos| 7 |-2 —
2 2 2 TH
Y
AT n
\ / \ T
! T
~ -1 "
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TrigonometryExercise for No.645106

3 9 2 X
Nol = (COS(A) = ;], No2 = (CSC(A) = ;j, No3 = (tan(A) = ;j, No4 = (sec(A) = —j

3
d=(y=cos(0)) 2=(y=-4sin(0)) 3=(y=sin(60))
Nos = 4=(y=06sin(50)) .5:(y:4cos[%D .6:(y:—isin(5 6)—3]
1 o . MA
.7:(y:—5cos(TD S=(y=—4sin(6m0O)+3) E

1
y=55in(2x) y=-3sin(2ntx) y=2cos(2x)+3

Nob6 = MA

TX
= — +3 y=-2 —|+4
y=-—cos(x) y cos( 5 ] TH

~
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TrigonometryExercise for No.645107

Nol =

Noj =

A=(y=cos(0)) 2=(y=-2sin(0)) J=(y=sin(30))

4=(y=-5c0s(20)) .5=(y=—2005(§]) 6= y=écos(59)+2j
fodmaeo) sopsnfi)
_.7— y——3sm(2n6) .8=|y=-5sin p +3 TH

X
y=—cos(x)—1 y=-3sin(2ntx) y=-3 cos(;j

) 7 3 7 X
(sm(A) = gj, No2 = (sec(A) = 5), No3 = (tan(A) = ;j, Nod4 = (csc(A) = gj

Nob6 = 1 (Mj ) - 3 A
y—2cos S, )~ y=3sin(2x)+ _TH
7
AT A
Yt O RN
Y
| | AT
/ o) \ ! /// ™~
iR | AN
\ (VARRNANANAR AR VRN
\/ \
-P -PJ/2 0 Piy2 Ri i/2 2P 5PiV 3Pi 7PRif2 4Pi
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TrigonometryExercise for No.645108

Nol = (cos(A) = %), No2 = (cot(A) = gj, No3 = (sin(A) = %J, No4 = (sec(A) = %J

A =(y=sin(0)) 2=(y=3cos(0)) 3=(y=cos(50))
Nos = 4=(y=-6sin(50)) .5:(y:§sin(26)j .6:(y:—4cos[%j—lj
e I
7= y=-2cos 1 8= ——4cos( no)+ TH |
5 TX
y=sin(x)+3 y= _E sin(TJ y=-3cos(2x)
o = -2 cos(2 3 y=2 (ij 2 ML
y=-2cos(2mx)—3 y=2cos ) -

~
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TrigonometryExercise for No.645109

Nol = (COS(A) = %), No2 = (cot(A) = 2], No3 = (tan(A) = 3], No4 = (sec(A) = %]

A =(y=sin(0)) 2=(y=2cos(0)) J=(y=sin(30))
1 0
Nos = 4=(y=-3cos(40)) .5:(yzzcos(56)) 6= yz—Ssin(gj—?:)
o doano) arpesek)
7= y= 3cos( n0)| .8=|y=-4cos 3 + TH |
l.(zj4 E-(ﬂ]z E-(i)
s y——2sm ) y—2sm 3 + y—2s1n 5
. , , (Mj MA
y=-—cos(x)— y=2cos 5 -
7
6
5
~ Y TN N -
L | \ e ] \
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TrigonometryExercise for No.645110

Nol = (COS(A) = %), No2 = (sec(A) = ZJ, No3 = (tan(A) = %J, No4 = (cot(A) = %)

A =(y=sin(0)) 2=(y=3cos(0)) J3=(y=sin(60))
Nos = 4=(y=2sin(40)) .5=(y:—§cos(46)j .6:(y=2cos(%j+3j
1 (=m0 MA
7=(y=-3cos(4m0)) .8:(y:—551n(7]+1] E
1 (mx
y=-3cos(2x)+3 y=—551n(7)—3 y=3cos(2mx)
Nob6 =
E i M
y=2sm(2j y=cos(x)+ 1 p—

~
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TrigonometryExercise for No.645111

7 5 X X
Nol = (sin(A) = 5), No2 = (csc(A) = Ej’ No3 = (cos(A) = ;], No4 = (sec(A) = Z]
i A =(y=cos(0)) 2=(y=2sin(0)) J=(y=sin(50))
0 1
NoS = 4=(y=—6c0s(30)) .5:(y:3cos(zjj .6=(y:—gcos(46)+3j
o dooro) aefpsel))
7= y= 2cos( n0)| .8=|y=-5cos 3 TH
s y—251n( x)— y——2cos 5 y=sin(x) —
L DO | (_j MA
y=-3sin(2mx)+ y——zcos 5 TH
7
6
5
Y
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TrigonometryExercise for No.645112

Nol = (tan(A) = %), No2 = (cot(A) = %j, No3 = (cos(A) = %), No4 = (csc(A) = %)

A =(y=sin(0)) 2=(y=—-4cos(0)) J=(y=sin(50))
1 0
No$ = A4=(y=-5c0s(30)) .5:(y=2cos(69)J .6=(y=3sin(;j—5j
7 ( L (n_@jj 8 4 6m10)-3 MA
7= y= 3sm 5 S=(y=—-4cos(6m10O)—-3) TH |
3 . (Tcxj 3 3 . (x] 5 1 (xj
g y 2sm 3 y 2s1n 3 y 2cos 3
o= 1 5 (nxj MA
= —+ = — - -
y=cos(x) y 2cos 5 -
7
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5
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TrigonometryExercise for No.645113

Nol = (sm(A)— SJ No2 = (sec(A) 7) No3 = (tan(A) = 7) No4 = (csc(A):%j
i A =(y=sin(0)) 2=(y=-5co0s(0)) 3=(y=sin(20))
4=(y=3co0s(20)) = (y——4cos(2D .6=(y:—%sin(3 9)—2)

No5 =
el 5] el Jeomona)
.7=|y=-3sin :——cos + —
R : TH |
1 . (nxj 3 5 . (Tcxj q
s y 2sm 5 y 2sm 3 y =—cos(x)
S O B | (_j M
y—2s1n( xX)— y——2cos 3 TH
7
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I y — L — | —
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TrigonometryExercise for No.645114

7 9 X X
Nol = (tan(A) = gj, No2 = (csc(A) = gj, No3 = (cos(A) = EJ, No4 = (cot(A) = 5]

Noj =

A =(y=sin(0))
4=(y=-5sin(60))

2=(y=-6c0s(0))

.5=(y= 5 cos(

0

3

|
ol 2) ot

3=

.6:(y=isin(2 6)+2J

=co0s(30))

MA

TH

T X 1
y=—2sin(7j+2 y=Ecos(2Tcx) y=cos(x)—3
Nob6 = ) (ﬁj ) 1 (ﬁj A
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TrigonometryExercise for

5 8 X 6
Nol = (COS(A) = 5], No2 = (CSC(A) = gj, No3 = (tan(A) = gj, No4 = (sec(A) = ;j

[ I=(y=cos(0))
4=(y=-4sin(60))

Noj =

No.645115

2=(y=-5sin(0))

eaft)

m 0

1 (n6
_.7:(y:—5cos(3n9)) .8:( =—Esm( 1 j+2]

3=(y=sin(60)) |
.6:(y:—§cos(6 0)-— 1)

MA
TH

3 3
y=—sin(2x) y=2cos(2mnx)—4 y=55in(2nx)
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TrigonometryExercise for No.645116

3 8 ) X X
Nol = (tan(A) = ;j, No2 = (csc(A) = g], No3 = (sm(A) = ;j, No4 = (sec(A) = Ej

Noj =

[ I=(y=cos(0)) 2=(y=-2sin(0)) 3=(y=cos(60)) |
4=(y=3sin(40)) .5=[y=3sin(%D .6:(y=isin(56)+4j
S in(2n6 _[_1 (_e] ] MA

_.7—(y——551n(2n )) 8= ——4cos 5 -4 TH

z.(zj 5., 5
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o 1 (_] MA
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TrigonometryExercise for No.645117

st =3z san=5 s = ancar =5 o= s 2]
Nol =|cos(4A)=—"1|, No2=|csc(A)=7|, No3=|tan(4)="| Nod=|sec(4d)=—"
4 3 2 X
i d=(y=cos(0)) 2=(y=5sin(0)) J3=(y=cos(50))
Nos — 4=(y=-5sin(40)) .5:(y=6cos(%jj .6:(y=%sin(56)+l)
. (n6 MA
.7:(y:—gsm(4n6)j .8:(y:—6sm(Tj+4j E

by 5
y=-2 cos(;j y=—Esin(21tx)+2 y=3sin(2x)+3
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TrigonometryExercise for No.645118

Nol = (COS(A) = %), No2 = (csc(A) = gj, No3 = (tan(A) = %J, No4 = (cot(A) = %]

A= (y=sin(6)) 2= (y=4cos(0)) 3=(y=sin(50))
! 0
Nos — A4=(y=-2cos(40)) .5:(;;:;005(46)) -6=(y=—55in(5j—4j
o dol ) soramaroee
7= ——4cos 3 S=(y=—-6sin(4n0)+4) - _
o) bl sl
Nog - y—2005 3 )" y—2sm ) + y=-3cos 3
o 3 (ﬁj 3 MA
Y=o s y=—cos(x) + p—
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TrigonometryExercise for No.645119

Nol = (cos(A) = 2), No2 = (cot(A) = gj, No3 = (sin(A) = %J, No4 = (csc(A) = %J

1=(y=cos(0)) 2=(y=3sin(0)) 3=(y=cos(590))

No5 = A4=(y=500s(60)) '5:(y:i005(39)j -5=(y=55in(gj+2)
- 1 (=m0 MA
J=(y=—4sin(5n0)) .8:(y:—551n(?]—5] E

TX 5 X
y=200s(7j—3 y=-sin(x) -2 y=Esin(Ej+4

Nob6 = . (ﬁj 3 (ﬂj A
y=2sin 5 y=-3cos 5 _TH
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TrigonometryExercise for No.645120

Nol = (tan(A) = %j, No2 = (csc(A) = g], No3 = (COS(A) = %j, No4 = (sec(A) = 3)

d=(y=cos(0)) 2=(y=3sin(0)) J3=(y=cos(20))
NoS — 4=(y=2cos(50)) .5=(y=6sin(gjj .6=(y:—§cos(29)+2)
1 (n6 MA
.7:(y:—zsm(7n S=(y=-2cos(6mT0O)+2) E

3 (Tcxj 4 in(x) 5 (x] 3
y=—_cos| |+ y = sin(x y=—_cos| — |+
NoG — 2 3 2 2
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TrigonometryExercise for No.645121

Nol = (cos(A) = %), No2 = (cot(A) = %j, No3 = (sin(A) = %J, No4 = (CSC(A) = %J

1=(y=cos(0)) 2=(y=3sin(0)) 3=(y=cos(60))
! 0
Nos=| #=(r=teos(60)) ‘5:(y=‘15in(3 G)J .6:(y=—3 sinb)—4j
o) oo
= ET T ) A= =Asmznt)+s) TH
1 x
y:2 COS(2 TCX) y:_COS(.X')-i- 1 y:—gcog(5j+4
y= _2 Sin 3 + y= Sln( X) -
—— . /-—_ _‘—.—‘_‘-‘h\
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TrigonometryExercise for No.645122

Nol = (cos(A) = %j, No?2 = (sec(A) = %j, No3 = (tan(A) = %J, No4 = (cot(4)=x)

d=(y=cos(0)) 2=(y=-3sin(6)) J3=(y=sin(60))
Nos = 4=(y=—-4cos(20)) .5=(y=ésin(3 G)J .6=(y=—6sin(%j—3}
( 1 (ﬂn . M4
_.7= =—6sm 5 S=(y=-3sin(610O)+5) TH

s (”j 2 y=2 (xj 4 i 1
= - | = = — |+ = — —
y 2cos 5 y sin 5 y =—sin(x)

1 MA
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TrigonometryExercise for No.645123

Nol = (cos(A) = %), No2 = (cot(A) = %j, No3 = (sin(A) = g}, No4 = (sec(A) = %J

A =(y=sin(0)) 2=(y=-2cos(0)) 3=(y=cos(29))
Nos = 4=(y=2sin(30)) .5=(y=—%cos(6 6)j .6=(y=—6 Sin(gj+4)
1 0 MA
7=(y=-4cos(5m0)) .8=(y:—5cos(?j—2J T

] 1 by [ mx
y=sin(x)—2 y =Ecos(;j y=-2 s1n(7j
5 TX MA
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TrigonometryExercise for No.645124

Nol = (tan(A) = %], No2 = (cot(A) = gj, No3 = (sin(A) = %), No4 = (sec(A) = i]

d=(y=cos(0)) 2=(y=-5sin(0)) J=(y=sin(20))
NoS = 4=(y=—-6c0s(20)) .5:()/:—5 COS(%D .6=(y=%sin(2 9)+3j
1 T MA
.7:(y=—gcos(5n6)j .8:()/:—3 cos(?j—iﬁj E

X
y=-2cos(2mtx) y=cos(x)+1 y=3sin(§]—2
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TrigonometryExercise for No.645125

Nol = (tan(A)— SJ No2 = (cot(A)— Sj No3 = (cos(A)— 1] No4 = (CSC(A)Z%]

d=(y=cos(0)) 2=(y=4sin(0)) J=(y=sin(30))
Nos = 4=(y=06sin(30)) .5=(y:—§cos(69)j .6:(y=5sin(%J—3j
1 T o MA
.7:(y=—zcos(5n6)j .8:();:—3005(?}—5} E
= COS(TJ sm(2x) y=—sin(x)+ 1
"l el
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TrigonometryExercise for No.645126

5 5 5 X
Nol = (tan(A) = Zj’ No2 = (csc(A) = 5], No3 = (COS(A) = ;j, No4 = (sec(A) = —j

6
A =(y=sin(0)) 2=(y=5co0s(0)) J3=(y=sin(30))
Nos — 4=(y=-2sin(60)) = y:2sin(%D .6=(y:—§cos(69)+5
e | [—GJ ] MA
_.7—(y——551n(2n )) 8= y——4cos p -2 TH |
1 by TX
y=——sm(5] y=—cos(x)—2 y=‘sin(7)—3
] anlg)s
y=2cos 5 y=2sin ) e
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TrigonometryExercise for No.645127

Nol = (COS(A) = ?j, No2 = (cot(A) = g], No3 = (tan(A) = %), No4 = (sec(A) = %)

d=(y=cos(0)) 2=(y=-3sin(0)) 3=(y=sin(60))
No = 4=(y=6sin(50)) .5=(y:%sin(36)j .6:(y=—551n(gj+5j
1 (mO MA
.7:(y:—zcos(3n6)] .8:(y:—3sm(7]+l] E
seol5) vesal 5] e2ed 3
y=3cos| 7| y=-3sin|l—/—| y=2cos| |-
2 2 2
Nob6 = ' 3 MA
y =—sin(x) yzzcos(2x)+4 TH
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TrigonometryExercise for No.645128

R O e R )
Nol =|sin(4)=7 |, No2=|csc(A)==7| No3=|cos(4)= No4 sec(A):g

A =(y=sin(0)) 2=(y=3cos(0)) J3=(y=sin(40))
Nos = 4=(y=-2sin(60)) 5=(y 4cos(2 j .6=(y=icos(39)+5j
7=(y=-3sin(5m06 ( — ( 2) MA
- =(y=-3sin(5n0)) . cos TH |

3 (ﬂ] 4 2 (—j 3 1
y—2cos 3 y=-2sin 3 y =—cos(x)

MA
TH
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5 . ) ) 3 (xj
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TrigonometryExercise for No.645129

5 9 ) 3 X
Nol = (cos(A) = gj, No2 = (sec(A) = ;], No3 = (sm(A) = ;j, No4 = (cot(A) = 7}

A =(y=sin(0))
4=(y=-2sin(30))

2=(y=-5co0s(0))
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TrigonometryExercise for No.645130

4 9 . X S
Nol = (COS(A) = gj, No2 = (sec(A) = gj, No3 = (sm(A) = ;], No4 = (csc(A) = ;]
[ I=(y=cos(0)) 2=(y=6sin(0)) 3=(y=sin(40)) |
Nos = 4=(y=5sin(30)) .5=(y=—icos(36)j .6=(y=4sin(%}—2}
1 T o MA
.7=(y:—zcos(2n9)j .8=(y=—6cos(7j+3j E
y=lsin(2x)+2 y=—25in(£j y=cos(x)—2
Nob6 = 2 3
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